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Strength Analysis

data$Strangth: main effeces and 2-way Interactions
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Call:
Imiformula = dataj3trength ~ Pressure * Length % Lot, data = data.frame(design))

Feziduals=:

Min 10 Median 30 Max
-631.7 -111.7 3.5 172.3 448.3
Coefficients:

Estimate 3td. Error t© wvalue Pri>|t])

[Intercept) 6809, 12 62.72 108.564 “Ze-1f *#**
Pressure -36.71 g2.72 -0.745 0.4a87
Length 99.04 62 .72 1.579 0.134
Lot -15.29 62.72 -0.260 o.79s
FPressure:Length 19.54 62 .72 0.312 0.759
Pressure:Lot -10.13 g2.72 -0.161 0.574
Length:Lot -15.88 62.72 -0.301 o.7e7
Pressure:Length: Lot 44, 29 62 .72 0.706 0.420

Jignif. codes: 0 **** 0.001 ***f Q.01 **7 0,05 *." 0.1 * * 1

Fezidual standard error: 307.3 on 16 degrees of freedom
Multiple RE-scuared: 0.1931, Adjusted R-=squared: -0.16
F-ztatistic: 0.5469 on 7 and 16 DF, p-—walue: 0.737

T T RIS HERR: R=0.193 T 5 SR BE > A EL model matrix R E 21
A fitted model 55 Ysirength=6809.12 o SR AFTAERAER) model Hfi#fE |~ Strength
19.3%HYBA 5T » [RIIE v HEm A A EA B8 ISR AT I8 - 1 EEE] CHYE
SUEAL B AT U 5 KR > (E R BB & T AR B AR » SBEECENIRL
JEMEAEBE W E RS D sk - RIAE AT S AN R -
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Flash Analysis

data$Flash: main effects and 2-way interactions
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------ e |1 Length BRI
1 -
o 4 e e ‘ e 2. Flash B Lot H—2 G 1F
e e L] +
1 4 e - BEE= Y
_ — " Ao H R SR
______ ' 5 o
Flash-- =rass s | af=lass - | anca | af-afF 2sh-- | at] | ang -
. Ty T SFx-
| anetth - = E - — _ .
: : [ ] !
e T T * 13+
T 12
Fzoh~Foool o] Presiasl ~ _cacd | Prof$Flac i~ Lot | Znecs
11 ; -1
FPra=sirs ! Jgors — - 1
-1 | ] - Trean”
1 . f P -7 T -1+
i : 13
_-:-__ T T T
: - 1 1 1
Prassure Length Lot
Model: Flash~A+C+D+A:C+A:D+C:D+A:C:D
Call:
Imi(formula = dataiFlash ~ Pressure * Length * Lot, data = data.frame(design))
Feziduals=:
Min 10 Median 3 Hax
-0.57667 -0.2895583 -0.05167 0O.25417 0.833667
Coefficients:
Eztimate Std. Error t walue Prix|t])
[Intercept) 15.7416667 0.093670353 146.702 <« Ze-1a **%
Pressure -0.0008333 0.0936703 -0.009 0.99301
Length O.2875000 0.0936703 3.0e2 0.00734 *+*
Lot -0.0225000 0.0936e703 -0.240 0.813:22
Pressure:Length 0.0533333 0.0936703 0.623 0.542:2Z:2
Pressure:Lot -0.3250000 0.0936703 -3.470 0.00316 *%
Length: Lot -0.02e6667 0.0936703 -0.285 0.77954
Pressure:Llength:Lot  0.1408333 0.0936703 1.502 0.15219

Signif. codes: 0 ****%7 Q.001 ***7 O0.01 **7 0.05% . 0.1 * 7 1

Fezidual standard error: 0.4539 on 16 degrees of freedom
Multiple RB-zquared: 0.68024, Adjusted R-sqguared: 0.4285
F-statistic: 3.464 on 7 and 16 DF, p-walue: 0.01276

T A SURER: R?=0.602 » FHEA L model matrix ‘B 2511 > i fitted model 15
Yrash=13.74+0.28*C-0.325*A:D - £F#F effect heredity principle |~ » &1 D A5 A
fitted model > # final fitted model 5 Yjash=13.74+0.28*C-0.022*D-0.325*A:D - [i;
model R*=0.534 » fiff% | Flash 53.4%[18 5 - ATREA HAtEAT B2 ) T SR A
AFE -

FH LB 3T Al 2 Bt R B e B B NN ] > F R W B By B e e RS — A%
HGE S SAEAT NES -
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|©

(a)
It design 115 generator B

B=CE

D=ACE

F=A’CE
defining relation: I=BC*E’=ACD’E=AC’E*F
defining contrast subgroup :
|=BC*E*=ACD*E=AC’E*F=ABD*=AB*C’D*E*=ABCEF=AB’F=ADF’=CDEF=AB’CDEF°=BCD’E
F°=BDF=ABC’DE’F*

(b)

1 defining contrast subgroup AJ75:
AC=ABE’=A’C’D’E=A’E’F=A’BCD’=A’B’D’E*=A’BC’EF=A’B’CF=A’CDF’=AC°DEF=A’B*C
’DEF?=ABC’D’EF*=ABCDF=A’BDE>F’=A’BE’=D’E=CE*F=BC’D*=B*CD’E*=BEF=B*C*F=C?
DF’=A’DEF=B°DEF*=A’BD’EF°=A’BC’DF=BCDE’F’

AC?=ABCE2=A’D’E=A%CE*F=A’BC’D*=A%B’CD*E*=A’BEF=AB>C*F=A2C’DF*=ADEF=AB>
DEF2=ABD2EF?=ABC’DF=A’BCDE2F*=A’BE?=C’D’E=E*F=BCD?=B>D*E?=BC’EF=B*CF=CDF
2= A’C’DEF=B%C’DEF’=A’BC’D’EF2=A’BCDF=BDE’F’

AE=ABC’=A’CD’E2=A’C*F=A’BD%E=A’B°C’D*=A’BCE*F=A’B*EF=A’DEF’=ACDE’F=A’B*C
DE’F>=ABCD’E2F?=ABDEF=A’BC’DF?=A’BC’E=CD’=C*EF=BD?E%=B*C’>D’E=BCF=B’EF=D
E°F*=A’CDF=B°CDF2=A’BCD’F*=A’BDE*F=BC>*DEF®

AE’=ABC’E=A’CD*=A’C’EF=A’BD’E*=A’B>C’D’E=A’BCF=A’B’E*F=A’DE’F’=ACDF=A%B%C
DF2=ABCD’F?=ABDE%F=A’BC’DEF?=A%BC?=A%CD’E?=C*F=A’BD?E?=B*C’D?=BCE*F=B’EF=
DEF%=A%CDE*F=B>CDE2F’>=A’BCD%E*F?=A’BDEF=BC’DF?

AC component Hil DE? component 524JE1;AC? component Bil EF? component 554>
JEIEAE component Hil CD? component 5245 7%;AE* component Hil CF2 component

SEIRYE © THUEEE orthogonal component #N& clear o
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(c)

ESelEE ME plot Hil 2fi’s plot

Strength: main effects and 2-way interactions

rength ~ A |[rength ~ C |irenath ~ E [frength ~ B |irenath ~ D1 | renqth F |
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2. FBEOAERYR > BRHHBANYES BXF ~ EXF ~ BXC ~ CxD ~ AXE ~ AxB ~ AXF °

¥} orthogonal component L_\L ANOVA FEFI
Model: Strength~A+C+E+B+D+F+AC+AC2+AE+AE2+CD+CE2+DE

Analysis of Wariance Table

E &

Fesponse: Strength

DEf  Sum 3g Mean 39
as.factor (4) 2 47,620 23.810
as.factor (C) 2 39.5386 19.793
as.factor (E) 2 80.433 40.216
as.factor (B) 2 11.8:22 5.911
as.factor (D) 2 185.037 94.019
as.factor (F) 2 9.933 4.966
as.factor [(AC) 2 17.405 8.703
as.factor (ACZ) 2 E54.597 27.345
az.factor [(AE) 2 232.711 116.355
as.factor (AEZ) 2 3.898 1.949
az.factor (CD) 2 61.454 30,727
as.factor (CEZ) 2 4,238 2.119
az.factor (DE) 2 24.141 1z.071
Feziduals= 27 227.187 g5.414

F walue
L8297
L3523
A=)
LTOE2E
L1736
L5902
L0343
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.42345
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{57 ] orthogonal component &4 45 7 {F AN Zh iR il » IR L3 ]
linear-quadratic system K modeling i &L 4 Model :
Strength~A+Aq+Br+Bg+...+(EF)qq
BRI ~ Z X FERER T AR M2 AFH - —34T 72 %L
JE - FTFHRYE AT 26 » 5] Box and Meyer (1986) 1M Bayes plot 2Kfi
= EC N

11

NG

Factor prokbabilities:
Factor Code Prob

1 none none 0.075 % =
z L x1 0.009 s

3 C %2 0.890 Z

4 E x3 0.007 Fooa_
5 E x4 0.004 Z

& I x5 0.903

7 F  x6 0.003

L

factors

FH Bayes plot ] I1EE ZLHYR[- £ C Bl D [ ANOVA Eil ][ JVE BEEH 52 111] ANOVA
HHEESL BT~ T E=BC’=.. 354 joint effect ‘Z-RE=%11] » H#E effect hierarchy principle
iefél joint effect FTREAKH E » MU 525 C,D,E _EFHBIMT o BEIRFRRAIERS
Strength~C+Cq+D+Dg+E+Eq+(CD)y+(CD)1g+(CD)gi+(CD)gq+...#(DE) 4q
I 18 fHARGE o FEERF AL CD,E ERIR A2 1 full factorial - Bl EHYAS R
il[ﬂC :
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Call:

lmiformila = Strength ~
Re=siduals:

Min 12 HMedian
-5.1852 -1.6956 0.07158
Cogfficients:

Estimate
[Intercept) 12.1574
P[, sub]C.L -6.0417
P[, sub]C.Q 1.7561
P[, sub]D.L §.583533
P[, sub]D.2 10.45585
P[, sub]E.L -5.291%7
P[, sub]E.Q 7.2409
P[, sub]C.L:D.L 16.0237
F[, sub]JC.Q2:D.L -0.5250
F[, sub]C.L:D.Q —-2.5927
P[, sub]C.Q:D.0Q 5.4773
P[, sub]C.L:E.L 1.4259
P[, sub]C.L:E.Q -3.259395
P[, sub]C.Q:E.L -1.5321
P[, sub]C.Q:E.Q 0.585845
P[, sub]E.L:D.L -4.7459
F[, sub]E.L:D.Q -3.0347
P[, sub]E.Q:D.L 2.2688
P[, sublE.Q:D.0 Z.1603
Signif. codes: 0O *Mw&&S

RBezidnal standard error:
Multiple R-scuared: 0.6
F-statistic: 3.737 on 18

HIFY ME plot HHAEE] C BRVERIKAT@IES - WMoRks C A A » CR B B HTS0S

8 ¢, £33 LL T model

Call:
lmiformala = 3trength ~

P[,. rrE_er] + 1:||:‘r "
Fesiduals:

Min 10 HMedian
-5.95815 -2.-2054 0.0425
Coefficients:

Estimate
[Intercept) 12,1574
P[, "™C.L™] —-6.0417
F[, "D.L"] §.8333
P[, "D.0Q™] 10.4885
F[, "E.0Q"] 7.2409
P[, "C.L:D.L"] 16.0237
Signif. codes: o rwEEws

Feszidual standard error:
Multiple RB-zcquared: 0.5
F-statistic: 10.91 on 5

I, fitted model 1] R?=0.532 » Wi fNEE -

WENI, » 4800 T 7 complex
AR 5 WRRERL TR o

@i residual plot JRHEE

F[, =suk])
30 Hax
2.0231 4.6620

3td. Error t walue Pr(x|t]]
0.4262 :8.524 < Ze-1g #%F
3.13z20 -1.929 0.06187
3.13z20 0.561 0.57358
J.1320 Z.8Z0 0.00785 %
J.1320 3.349 0.00185 %
F.1320 -1.6%0 0.10001
3.13z20 Z2.312 0.028679 *
3.13z20 5.116 1.13e-05 ***
3.1320 -0.263 0.79379
3.13z20 -0.828 0.41339
3.13z20 1.749 0.05909
J.1320 0.456 0.6851068
3.13z20 -1.054 0.29930
3.1320 -0.459 0.62778
3.1320 0.z82 0.77929
3.13z20 -1.515 0.13868
3.13z20 -0.969 0.339Z4
3.1320 0.724 0.47367
J.1320 0.690 0.45450

o.0o01 %7 0,01 **F 0,05 .7 0.1

3.132 on 35 degrees of freedom
577, Adjusted R-squared:
and 35 DF, p-wvalue: 0.0004127

aliasing > (&

L

1

0.4517

P[, "™CZ.L"] + P[, "D.L"] + P[, "D.0Q"] +
L:DLL™])
30 Max
2.3501 6.928:2
Std. Error t walue Pri>|t])
0.4256 E25.565 <« Ze-1g ##=*
3.1273 -1.932 0.059:28
3.1273 2.825 0.00635 *+*
3.1273 3.354 0.001585 **
3.1273 2.315 0.02491 =
3.1275 S5.124 5.2Z8e-0g ##*
g.ooi1 +*%° og.01 **f o.05 .7 o.1 0+ "1
3.127 on 458 degrees of freedom
32, Adjusted R-squared: 0.,4533
and 45 DF, p-value: 4.744e-07
AT Ef?Eﬂf
IERE S IR S = R STy i =

i

(&5

PR

T%HW%% —BEITRNE > DLoikE
5 linear model {REFHIEIEL o
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Residuals vs Fitted Mormal Q-0
o35 3o
o pile © oo e
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T eTe)
21 I 47
T T T T T T T T T T T
5 8 10 12 14 16 18 2 1 0 1 2
Fitted values Theoretical CQuantiles

& final fitted model
Strength = 12.157-6. 041*C|+8.833*D|+10.488*Dq+7.240*Eq+16.023*(CD)||
TR RS S REOE B L ME plot 1YEIZEAE @5 -

(d)

Larger-the-better 4] response 38 5 R HER A, E(y) » W& JEEREY maximize E(y)Z
% I+ adjustment factor 2K minimize var(y) « FHREHEZEEE 2 {EEE AR » K
A] FH ARG var(y) B &

(e)

FERZFT 27 F(C,D,E)/KHEFH &1 Strength THBRIMET - 28H{/E(C,D,E)=(2,2,0)IFf
Strength 13 f KAYFHIHINE 19.921 » {HEEEEE T WAl B AR BEHY L RS 18 « [RHY
THHIME 18.685 j=2¢ 4241 (C,D,E)=(0,0,0) » [LHF Wl B R BLHYAR SRS 0.5 < WMHfEES
(A,B,C,D,E,F)=(0,0,0,0,0,0) HY5 iE AR ZE £ H A
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10.
(a)
" defining relation EHf4511Y alias sets %I I -
I=ABC’
A=AB’C=BC’
B=AB’C’=AC’
C=AB=ABC
AB’=BC=AB’C

Location Analysis

response: maln effacts and 2-way Interactlons
R e R e I W o C PN b2iic% dcs5 4 e 3 2
ST I DG HELHIE B B © Hfs C
; ‘ ] R ‘ T Eil AB component 5E 2R » K
[ B P 15 AXB 12 ELA Y FhR e
e - WA AAE RS, -
A ) il N |2 ACETfR AR -
e A D |3 BxC ATAEAE(BO) MU -
[ e [mmee e | 4 AT RIS -
- ::| —‘ j I ﬁ -.:f'“'ﬁ?f.?:k 7= |5 B fEBEaER bR aEr X
' = A7 SUE > SRPERER I -

il 1 z - 1 2 C 1 2
A B C

Model: location~A+B+C+AB? ;2 ANOVA table £ F :

1. CHY T AUEG Her s SR ]
Ko (ATREZK E X AB component)
Sum Sg Mean 3qg F 2. AE@I&&F@%&H@@E\:;}ZZO(Q‘

Analyzizs of Variance Table

Response: respohse

Df
as.factaor (4) Z B52.9 3Z26.4 LB 2
as.factor (Bj 2 16.5 5.2 HEAKH Y BC® component)
as.factor (C) 2 9419.2 4209.6 3. B Y RN S Bt B R
as.factor((A + 2 * B1%%3)] 2 269.4 134.7 5 -
Residuals o 0.0 /N o (AC® component [EHLE [

IE)

Model: /ocat‘ion“'A,+Aq+B,+Bq+C,+Cq+(ABz),+(ABz)q < halfnormal plot Z[|| :

made by 5REH BhZ;




NTHU STAT 5550, 2013 Solution to Homework 1

Location
1. CHIBRMERUE B — 5% (AT
g - HEZK H Y AB component)
caQ
0‘5 1‘0 1?5

Half-normal quantiles

FH_FSfe oAb S v % > IR~ C B2 Push-Off Force )—{E{REE ZIHYAlF-
{HER A CIY - 35MEEL AB component 52 i EAASAIRE R B 2 HH & T 2K
NI effect hierarchy principle » RISl Z VL B ETY ¢ HIHEERKIYE
RIS E R B R B T IE B B Y R > it B AR i A Ak, Push-Off
Force » C YR EIERS 1.2% © [AIHIAE LGS T SR 2B IWUERs A » Hodipk—
ESERRIEARE - KT B S SE(ERY P N gE NS A - e s A 1F
}EH o

Dispersion Analysis

response: main effects and 2-way interactions

Fesachse - o ] et A L i ] [ S - . .
O | o A E iR s - R
- e AT S R N | A Bl BC? component SE21RIE -
I [ ._'f I.'. ,-'( "_1'" - : ' T -

o 2 JLAE BxC B LA ey
R sy ) HERAT 2 A TR, -

B Lo LA LT ezacngt ~ 2 = mZpoangr - |E
s s Lo e e [ 2 CH BB AEE
= T T S B R RBE » AR N I

-/ o \f' BE A8 E - FHA C Bl AB component
'\-' . J 4
N [t A [ n 2 3Enos = A MIpanG2 =12 |5 %%/}?{%{% ’ th?f AxB H’q&ﬁ’ﬁf

. e e PG R B 5 A AR
N i R R o 2

L e S [ 30 B AR NI BEI SRR E
N 4. AXC ZHVEFRIHE - (E B Bl
A E C
AC? JELIE)
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Model: dispersion~A+B+C+AB? ;2 ANOVA table | | :

Ahnaly=sis of Variance Table
A= b= = ° oy
1. ASERIYRE LK o (WHEZKHE
Rezponse: response " 2
Df Swm Sg Mean Sg F X BC* component)
as.factor (&) 2 5.0403 2.52015 S s i 550 A NN
N A o o A
asz.factor (B) 2 1.1649 0.53245 2. CEBZE/]&/E\‘/AZ (ﬂﬁ[&fi@
as.factor () 2 2.2360 1.11501 B/\\ AB component)
as.factor ([ (& + 2 * B)%%3) 2 0.1508 0.07538 \2 )
Residuals 0 0.0000 3. AB” component Jgi 7% BRI
JN o

Model: d/'spersion”A,+Aq+B,+Bq+C,+Cq+(ABz),+(ABz)q Z halfnormal plot ZT K :

Dispersion

AL

| L RHESSTHAE R L SR
AN -

20

15

10
!

Sorted Data

T T T
05 1.0 15

Half-normal quantiles

HH_ B Arid SR T A K A B S B B Ly — R S R - (A
A ) ERLHEE BC? component 5E IR » IR SIRE 2 E A&z - #5001
A effect hierarchy principle » HI[& 8B 2 F Bk ETN A > H IS A2 IR
HORSTARMERIUE - sl B i Sl MBS A 5L - JiEF A 5% 7E(E 0.3 seconds ° [d]
BRI N BA e B IR RS O TR SRS B R B R TR —RRUE
PURAR AR RIE o K7~ B BRI Al REAN S B M AU > 1 @2 .
YER - (HELGF ERYE halfnormal plot il SAgHI HEFEE K - Bl A n]
e U R FEHGERZE -
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(b)
FH(a) P 1 A —1[ alias set MU & -3 > R HEAF effect hierarchy principle 2 >
HAH7 alias set 19 joint effect TWJEFRIAACAIER » A{EETHIE SRS 2 ¢

Location Analysis

Model: location~C+C,

Call:
lm{formwula = location ~ C.L + C.0Q, data = data.frame (P))

Fesiduals=:
Min 10 Median 30 Max
-14.7000 -&8.2400 0.7333 3.9533 19.1000

Coefficients:
Estimate 3td. Error t wvalue Pri>|t|]

[Intercept) 104.61 4.17 E£5.089 Z.64e-07 *%%
C.L =-73.50 1z.51 -5.908 0.00105 **
C.Q -54.359 12.51 -4.345 0.00433 *+

Jignif. codes: 0O %% Q0,001 ***7 Q0,01 **7 0,05 *." 0.1 * " 1
FEesidual standard error: 12.51 on 6 degrees of freedom

Multiple B-sdquared: 0.8997, Adjusted B-sdquared: 0.8662
F-ztatistic: 26.2 on 2 and & DF, p—wvalue: 0.00101

It model .2 R*=0.899 » A&/ R ESKMERLIFTE I location 89.9%[1Y5 5 « LEHIUIE
£t ME plot BB BARINEE - {Hig nRe /bl AxB 2 AMEHINEIRRUA R « et
Model: location~AH+Ag+...+(BC)yq
St model selection » HEHIEE ] BIC » 43 BIFKHIAT 10 20 - 30 AFARIRG &R 145

(S PR SR AT

E
I | S

col QML A DD

E.- L ~LE.. “LE. “.iL ~GI. ELCL EQCL s E L AL o~3F. ALEL fAGL ELIL SIS

[

L

1 Al A LR | EER | et 1l

AIBIEEE] CIRLEEL AxB 28 AR ITHIER AR — 6 2 S — (kA - St e
orthogonal component 158 4 {E i {#55E] linear-quadratic system 35
complex aliasing [T 3525 - 1 R F(BC) g — LA HEE AU > H interaction plot
A E R ERT RS > I fitted model £
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NTHU STAT 5550, 2013 Solution to Homework 1

Call:
lwiformula = location ~ C.L + C.0 + B.Q:C.L, data = data.frame(F))

Fesiduals:
1 2 3 4 = & 7 a =
-2.4100 0.7933 -4.6500 -4.,7467 2.2000 0.2100 2.4500 2.2000 2 3.95355

Coefficients:

Estimate Ztd. Error t walue Prix|t|])
[Intercept) 104. 609 1.349 ?7.52 6.77e-09 F%%F
C.L -73.901 4.0453 -15.25 9.07e-0p ***
.2 -54.,356 4.0458 -13.43 4.09e-05 **#

C.L:B.Q 87.815 12.145 T.23 0.000739 F%%
Signif. codes: 0 ***%f 0,001 ***f Q0,01 % o.05 .7 0.1 1
Fesidual standard error: 4.045 on 5 degrees of freedom

Multiple BR-sguared: 0.991z2, Adjusted R-sguared: 0.986
F-statistic: 188.7 on 3 and 5 DF, p-wvalus: 1.457=-05

It model £54 effect heredity [FfR3% » R?=0.991 » F 558 — AU HER| Al f#F location
99. 1% L o B BIBSUE AL R 1E £ R B ME plot _[—Z§ - I final fitted model
=\

location = 104.609-73.901*C-54.386*C,+87.815*(BC)

Dispersion Analysis
i

Model: dispersion~AtAg+...+(BC)gq
KA model selection » #EHI[{Hi FH BIC - 43AIEKHAET 10 ~ 20 ~ 30 ~ 40 TR
SRS IR SR

12 Z_?TD_:D::_;D H ;________UIZIJL]_ J_

=L -=. “waEL ~LCL G S.i. Eacl Sl E.L L ~SLEL =Gl S~oi. Sabll BLILL EBG .

w

- — —

) H—HI = —|H = ) N N =
AL B.L CL ALBL AGQBL ALCL AQCL BLCL BGQCL AL E.L CL ALBL AQBL ALCL AQCL BLCL BQCL

AJEIEZEE] A~ B~ Co HIEHRAR— 1 # RS - 1T HAMR U L BRI EE
EHY fitted model B

an
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NTHU STAT 5550, 2013 Solution to Homework 1

Call:
1w (formwula = dispersion ~ L.L + B.L + C.0Q, data = data.frame(P))

Fesiduals=:
1 2 3 4 5 g 7
0.41248 0.18093 -0.05614 -0.51759 -0.27753 -0.27941 0.10623

Coefficients:

Eztimate 3td. Error t walue Pri>|t])
[Intercept) 5.515:2 0.15302 42.53658 1.55e-07 *#%%
AL Z2.1126 0.3905 5.410 0.00292 #F%
E.L 1.0793 0.3905 Z.764 0.03966 *
c.a 1.4838 0.3205 3.7959 0.01264 *

Signif. codes: 0 Y#**7 Q0,001 *+%' 0,01 **7 oO0.05 .7 0.1 * 1
Fesidual standard error: 0.3905 on 5 degrees of freedom

Multiple B-sguared: 0.9112, Adjusted B-squared: 0.358
F-statistic: 17.11 on 3 and 5 DF, p—walus: 0.004626

[ fitted model (A {E IE & %EEHL ME plot —%% > HfifE 7 dispersion 91.12%[%)
AL > BHY final fitted model 5
dispersion = 5.515+2.112*A+1.079*B+1.483*C,

(c)
FHAE final fitted model
location = 104.609-73.901*C-54.386*C,+87.815*(BC)
dispersion = 5.515+2.112*A+1.079*B+1.483*C,
A5 location K H. dispersion /NJEETE < KT 27 EEGE T2 A final fitted
model 1]15:

LEC v_hat log(s*Z)_ hat
1 000 118.07626 4.964811 1. 4% maximize y_hat » %&4F
2 100 1153.07626 5.452750
% 2z 00 115.07626 5.980690 ?% 10 ﬁ%’IS run °
4 010 107.72716 5.219204 . p
5 110 107.72716 5.717144 2. ££10~18 run PE—{él{E
& 2z 10 107.72716 6.215054 . . = ==
7 0 Z 0 115.07626 5.473593 dispersion f/NIJRE ©
8 120 115.07626 5.971538
9 2 20 118.07626 6.469477
10 0 0 1 119.41087 4.359070
11 1 0 1 119.41087 4.857009
1z z 0 1 119.41087 5.354949
13 0 1 1 119.41087 4.513463
14 1 1 1 119.41087 5.111403
15 2 1 1 119.41087 5. 500342
16 0 2 1 119.41087 4.857857
17 1 2 1 119.41087 5.365796
15 2z 2 1 119.41087 5.563736
19 00 2 B83.23894 4.954511
20 1 0 2 B3.235904 5.452750
Z1 2 0 2 B3.23594 5.980890
Zz 0 1 2z 72.88985 5.219204
23 1 1 2 72.88985 5717144
24 2 1 2 72.88985 6.215054
250 2 2 B3.23594 5.473594
Z6 1 2 2 B3.23594 5.971538
27 2 2 2 B3.23594 6.469477

‘&7 (A,B,C)=(0,0,1)I5f » location=119.410 > dispersion=4.359 » #EFE 3 B HE(0,0,1) ©
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